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Take m = 2?, wherever necessary.
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12 The number of decimal places after which the decimal

€Xpansion of the rational number 145i8 will terminate 1s 1
62
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hich one of the following is a rational number? 1
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\Vf{praduct of the zeros of 4u? + 8u is 1

4u? + 8u I YFIZOR *RIFe T
4u? + 8u-G FLTAR *RTFS 2

412 + 8y T afra v gEsTETRE e

4u? + 8u ¥ Y F ITE Fd @

(a) 4 (b) 8 (c) 32 \{;)/6

“der what condition will ax? +5x+7 =0 be a quadratic
equation? 1

& 5% TS ax? + Sx + 7 = 0 9o fagre s qF 232
£ W ATATF ax? + S5x + 7 = 0 G5 RIS AN I ?
o TeRAE ax? + 5x + 7 = 0 3 WA ST FHHATE SETA 7

FH-Hl A o STUR K ax2+5x+7=0@ﬁﬂ'laﬂ'rﬁw@m?

(@@ a>0 y‘f a <0 {c) a

0 a#0

5. /in AABC, £A =90°, AB =3 cm, BC =S cm and AD 1 BC. Then
the length of AD 1s 1

AABC © Z/A=90°, AB=3cm, BC=5cm W& AD.1 BC T’
AD 3 (7 ']

AABC-(® £A =90°, AB =3 cm, BC =5 cm 4% AD1 BC T+
AD-9a3 tvd] =3
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AABC 3| ZA =90° AB =3 cm, BC =5 cm 3R AD | BC /™=l

AD T3 Ma=3n STiiEs
AABC #, /A =90% AB =3 cm, BC = 5/ém 3t AD | BC @t AD #
&= g

O 12 39

A

ﬂe distance bétweenmthe points (1 0)

(1, 0) &% (0, 1) R o= &g 2

(1, 0) 9% (0, 1) RPE Wy /Y =
(1, 0) 3 (0, 1) fe=If Torfy ST S

(1, 0) 3R (0, 1) fag & wey
(@ 2 (b)2 (€ 1 (@ O

7<" The angle of elevation of the top of a tower from a point on the
ground, which is 30 m away from the foot of the tower, 1s 45°,

The height of the tower is 1

R T AR (e 30 oM e Pice v @ Ry s gy
M T (P 45° 2o BSF SO 2@

ﬁﬁmﬁqﬁﬁzﬁmsoﬁmﬁmmmmmﬂﬁ%ﬁﬁﬁmm
ACIERDICIEE E I c1pe ol o B R o) 45° ST TERA Nergan [y

T T F TR A 30 et g oft v o el g @ % 9 1
I 45° 3| W A I8 By

(a)~"30 m (b) 15 m (/) 10 m (d) 60 m

B18-GM/19A [ Contd.



( S )

=

\8/1“1/ the circumference of a circle is 22 cm, then the area of a
quadrant of the circle is

T o1 989 AR 22 = R, =W, (SR’ TEOR @B G IR 27

T @6 Jres ~fRR 22 ¢1. R, =, orge ey g3l @@ ikt 23
e AR SEAt 'rfife fmmn 22 3. @ S/, e SEat e sar-af

SSATSIRT ST

TS Th g 1 IR 22 Vo Hio A, 9 3% 99 A I9-T W IA F =gy W
aj.”

(a -—87— cm? (b)) 77 cm? (c) 123 cm?  (d) 7—:- cm?

\Q/Trne/ wickets taken by a bowler in 8 cricket matches are as
follows :

O AT 8 A TG0 (AETS ¥3e] FA1 TR0 S Tors Whl 499

G @Ead 86 fFb (e w4e a1 V3ced S e 43671 -

gl 9 99 8 ke TommE aFl 8ME I3 SN TRRE BN
e

8 Trpe Bl o U Tea™ g0 W fasel it v Ffeiag ®

3.2 0. 1.6, 2, 1, 2
The mode of the data i1s

Ui 959 23

©Yhd I2TF 2R

@it TS S

qedl &1 agesh e

(@) 3 (b) © (c) d) 1
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10/ The probability of an event ‘E’ + the probability of the event

not E’ is

WA ‘E’ 3 Wil + 95 B weu's Wil 7'

T * E’ - BREIRET 0 B e St =3
SeE CE' A Sl + S ‘B SR sl s
T E A i e B A i o

(@ 2 (6) 1 (0
m value of 9sec? 60° - 9tan> 60° is

9sec” 60° - 9tan? 60° T TN 2’3
9sec? 60° - 9tan? 60°-9q 9 T{
9 sec? 60° - 9tan? 60° F 7FT SIUIE!

9 sec2 60° — 9tan? 60° &1 HH B

) g (b) 3 © 18

W cubes each of volume 64 cm® are Joined end to end. Then
the surface area of the resulting cuboid is

(d) 01

(d),/ 9

1-
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TR AR 64 T ¥, By, T WY FHEE SERE S|y HSEA
ST, 37scT BT AR g fog gsasiean s

TSI 64 T Jo Mo AT AN A HA w1 AW BR W FAM AT 2| Al
it 91 % Hdg R 89%d ©

(a) 128 cm? (b) 176 cm?

(c)~160 cm? (d) 192 cm?

SECTION—B / a—>¥l / I—*IRl / @—<aTgr /[ T—ImaT
13. Prove that 3./2 is irrational. 2

ofTe 11 (T 3+/2 TR |
o TR (A 3+/2 AR |

T @™ & 342 31 TASEeT |

T 3 6 3+/2 3|

14 Find the 10th term of the following arithmetic progression : 2

<7s o S Ao 109 2Meo! A4 341 -
e STEa a5 1099 «w@ib [ T -

TR BAE "Edre sttt 107y feeea g -

SrefaRaa it wifa w1 g9 3rEwen & FHviE =
2 s L
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. - s . . t.
M the ratio in which the line segment jJOINiNg the points .

(-3, 10) and (6, — 8) is divided by (-1, 6)

(-1, 6) B (-3, 10) W= (6, —8) Y S @A [ SPTeS Sl
<, ﬁ‘fﬂ <34 |

(-1, 6) RfS (-3, 10) @=% (6, — 8) R M @IS & FPACS ©°T <,
_efy ¢ |

(-1, 6) e (=3, 10) IR (6, —8) FA IEEAE TE Gr<r@l
FATEEE T fegA |

(-1, 6) &g (-3, 10) 3R (6, — 8) & FAFH @1 =1 fohT U@ § 9T &Ll 7,
ot =0

16. Show that / YyS A / e @ / RNAR / == =0 &

cos38°co0sS52° - sin38°sin52°=0 2

17. In AABC, /B =90° and tanA=1  Then

show that
2sin AcosA =1.

AABCI £ZB=90° W& tanA=1, (2@ TG
2sin AcosA =1

A,
AABC-99 £B =90° @R tan A =1, OIA A8 @ 2sin Acos A — L

AABC T £ZB =90° 3l tan A =1, 3= REA R 2sin Acos A =1

AABC &1 4B =90° WtanA=1,a‘(wfﬁm$€t% 2SsIn Acos A =1
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18. One card is drawn from a well-shuffled deck of 52 cards. Find
the probability of getting a spade.

Cleicd T2 52 ©h2Te A3 IR ©bMed 2] Q9 ©EATe BIfs @<l
3’ | OBATOYH P (FRIF SIfe! ey <541 |

e fifte T 526 oF U= WG eI A% (AT I O (GLA
(ST 29 | OGP AISH[ TSRSl T 3¢l |

ANTe TARHAE 98 M 52 a9 feagtee e am faer e S|
TSR HAATEA SrrEaATE) fog |

3t @ @ e gu 52 a1 % ual @ U g fere foran ) 3w e & w
% WS B I WTi¥ehal Jrd A |

cotA-cosA cosecA-1 5
cotA+cosA cosecA+1

19. Prove that

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

A€ 91 (A

— - cotA—cosA - cosecA-1
' cotA+cosA cosecA+1

: & cotA—-cosA cosecA-1
cotA+cosA cosecA+1

R w0 e cotA—-cosA cosecA-1

cotA+cosA cosecA+1
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20. Find the zeros of the quadratic polynomial x™ + Tx+ 10 and .
verify the relationship between the zeros and the coefficients.

2 +7x +10 RS *MOR *FIAR TSI A< &% ) S SRICIE e
o o[ I |

2 4+ 7x +10 S oW *FoecEn (@ I IR 4% D AR TR
TR ST 2 I

2 4 7 410 SR forere et e wE T4E ) erE BR AR T
mﬁnﬁtﬁﬁ@mw@ﬁ@@wmt

x2+7x+1om@m%@ﬁmmﬁuas@mw%ﬁmﬁa
grary JETE U |

Or / 71291 / 9% / T&t / 44t

Divide 2x2 + 3x+1 by x+2.

Xx+2@2x2 +3x+13 /I
X+ 2 @R 2x2 + 3x +1 (3 S A

or which values of a and b does the following pair of linear
equations have an infinite number of solutions? 3

L @ b3 ¥ TR CFAS TR AT AR @RF TN RYS TN
e 2

0 32 b-a3 & WA CFCa Nod RS FWFA (AW SWHA RS FAGH
A ?

q 2@ b f m TR uEE TEER e ' , s 5
SRR AEEATE A . '

aﬁbﬁﬂﬁq-‘éﬁﬂ'ﬁ%%ﬁﬁﬁmaq ,
TaE e e T A A wefin de

2x+3y=7

B18-GM/19A
[ Contd:



( 11 )

-

EZ/P(ind the roots of the following quadratic equation : 3
o] faere SNFoR =1 Refy 4
fcare fagrs SNeefda 71 o e
TR S gaFgEt UerE A
frafafRaa feama e 1 qa Fol 0

2x2—2x/§x+1=0

23. Find the value of k for the following quadratic equation, so that
it has two equal roots : 3

Wﬁﬂﬁﬂﬁiﬂmm@kam%ﬁﬁm,mw?ﬁ@ﬁwm:
farre faare ANeaa cFa k-93 I9 @ 3¢, ACS 99 90 I& T =

e S gEHEER gk f A g S sERi A9 JEaE  65E
ST

frafefaa feam wfiwo & e £ &1 = Fol w0 Sea 6 g @[ qa
gqH &l :

2x%? +kx+3=0

24. Find the sum of the first 24 terms of the list of numbers whose
nth term i1s given by a, =3 + 2n. 3

Qyq AN OIfFFR AT 2401 oMy @SFHE [ I IR new #wn)
a, =3+ 2n.

3% 2y ool g4 24T oo @owE Ry @ Im new owS
a, =3+ 2n.

sAfsmTeRE faehf fifs 24 foEerf s Rgr st nfy femn

a, =3+ 2n.

T G&I1 Hl qAMTR H1 9YH 24 981 F1 ATEA R 50 Rget naw g2 2em

a, =3+ 2n.
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. 1t
25. If the line segment XY is parallel to side AC of AABC ;Ile 1

ind —. 3
divides the triangle in two parts of equal areas, then find AB

Il XY @48 AABC 3 AC 121 SEAE 2, e 3 fapeeo! I3
YOl TS ©19 A, m%ﬁcﬁlwr

3 XY @He AABC-93 AC Jeq SWEAE =, @ «fb frgsibee T
wﬁaﬁwm@ﬂm,w%ﬁq‘ﬂm |

IR Xy @@= AABC & AC rEf fm AR @ srEReEE!
A O9H SsaT3 i T, mx%@ﬁy|

af XY T@Ee AABC 1 AC ¥ST &1 @9=RE & 3R T Bys &t '
éathmma?ﬁaisﬁﬁmm%,?ﬁ%ﬁvhmm

A the value of k if the points A (2, 3), B (4, k)and C (6, —3) are

collinear.

3
af% A (2, 3), B(4, k) 9= C (6, - 3) 3201 @I, (S@ kI T fAefy
91 |

1 A (2, 3), B4, k) 9R C (6, - 3) RYT @0 =, O=CA kI I
faefg ¢ |

R A(2, 3) B4 k) 3 C(6, -3) W=Ie A-g@iemi sweern, k &
T e |

afz A (2, 3), B(4 k)3 C (6, - 3) gl whieh &, A k =1 7 fioky =631
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\ZJAnd the area of the shaded region in the given figure, where
ABCD is a square of side 14 cm 3

we] foqe ABCD @bl 14 (= ﬁ.mﬁﬁﬁ@wl%@ﬁmwmﬁﬁwﬁﬁ

Tfereq] :
Nesx e ABCD =6 14 ~ R aRFE 39 | T g IS SN

FIfer Refy ¢

TRy grEmiEE ABCD T HiFd 14 Q. fir, @ M=T s | S TR
Hmﬁmmaﬁmﬁaﬁmﬁﬁﬁﬁ

fyraq g § ABCD T 14 ¥®o Hio gm—ﬁrﬁmaﬁ%ls?ﬁﬁﬁﬁaqwﬁﬂ
3TYT T SFFA I :

A

B

SECTION—D / ¥—>I}1 / ¥—>M1 / g—arerm / 9—ImEln

M{ré the following pair of equations by reducing them to a pair
of linear equations : 4

Wﬂﬁwqmmﬁwmawﬁwmﬂw:

ﬁmﬂﬁﬁqmﬁ@%ﬁwqmmmwmﬂm:
Wﬁwaﬁa’n@mﬁg@mﬂma’mﬁmﬁmﬁm@m

fag -
ﬁmﬁ%ﬁmﬁﬁﬁﬁwmﬂwmww:
g 8 e B B

X+l XY X¥Yy XY

B18-GM/19A [ Contd.



( 14 )

Or / 71231 / 9 / 0T / HALET

The area of a rectangle gets reduced by 9 square units, if its

length is reduced by S units and breadth is increased by
3 units. If the length is increased by 3 units and breadth by

2 units, the area 1s increased by 67 square units. Find the
length and breadth of the rectangle.

mﬁgaﬂawmmlﬂﬁmmsmwmzawﬁw

ﬁﬁwﬁmvﬁswmammsaa@aﬁww,w
@§¢ﬁ93ﬂﬁwmﬂlﬂﬁﬁm3ﬂWu‘ﬁ%WQ‘ﬂWﬁ
wa,waﬂﬁ67wawﬁﬂmlwmﬁam‘mmﬁ?ﬁcfﬂW|

» D 1s a point on side BC, such
that BD = %BC. Prove that 9AD? — 7/.132‘

ABC W1 fiiged BC I3 ¢°R® D @1 R qze B - 1

-§BC* AN 91

@ 9AD? =7AB?.

ABC % fgte BC =8 %13 D a3 R aics g _ |

= B
3 A9

3@ @ 9AD? =7AB?.
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MCWW@W@WDWBCmﬁﬁwm%

STTeT BD=—1?;BC|q-ﬁTqﬂ@TaTqﬁ9AD2 - 7AB?.

wcmﬁgamscw%mpﬁﬁaaﬁBD=%Bc%|
quifra & 5 9AD? = 7AB?.

30. From a point on 2 bridge across a TIlVErT, the angles of
depression of the banks on opposite sides of the river are 30°
and 45° respectively. If the bridge is at a height of 3 m from the

bank, find the width of the river.

QY T SARM Y TR QIS mﬁfﬁwﬁwﬁﬁﬁﬁww
ofe (P19 IAEFCH 20° @ 45°1 T 72 AR o[ 3 oA TwOre weRIA
T, (ST ANI=S o4F e T4

rom an external point T, two tangents TP and TQ are drawn to
o circle having its centre at O. Prove that ZPTQ =2ZO0OPQ. 4

481 3R T T °[1 O (FIW J8C T wopfG TP & TQ T 1 2 |
oriel T (A LPTQ =2£LOPQ.

ol AR T (0F O @@ e 4o =MF TP G TQ &S T4 ¢ |
o1 A A LPTQ =2L0PQ.
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U 9@ S TR O 7eA-39 a% QA i TP ol TQ ifa fe T
THIvTE S o ZPTQ =270P0.

327 Construct a triangle similar to a given triangle ABC with its
sides equal to % of the corresponding sides of the triangle ABC.

(Write the steps of construction.)

aﬁm%&ca%@@aﬁmwmwwc
PO Sl IZCAT 2 @ ST 2 | (S 2R A 1)

93 ome fage ABC 3 >Tp1 «3fo fagw S awe @7 I=sen ABC
ageioa STqmnel ARGCEAR 2 G ST = | (SFH NN (=T )

A TEFA™ @Y™ ABC 7 ve@ s 91fled 9@ straif=am a1y
mﬁﬁmwcm@mmmﬁ@tﬁgwm
S| (AR A ArTE! for )

wF fem T Bys ABC % W@ T B o1 31T U SEd smeh g
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SECTION—E / &}l / &I / S—amerm / —Indl

33. A hemispherical tank full of water 1s emptied by a pipe at the

rate of 3% litres per second. How much time will 1t take to

empty half the tank, if it 1s 3 m in diameter?

AfS (RIS sgﬁﬁmmﬁaﬂmﬁaﬁﬁﬁWﬁW (oo
WWi’ﬂwﬁmwsﬁ.@,mWWmaﬁﬁWﬁW
SN A9 ?

TS T SR G A SRR (Fame! 2 e 32 PR T
mﬁwmlﬂﬁﬁwsﬁ.m,wmwwaﬂ%w@mw
IR ?

ﬁ?ﬁﬂﬁ%@msgﬁmgﬁﬁﬂqﬁﬁ%ﬁ m@mﬁmﬂrﬁqﬂ@a@ﬁ
sTect] 2RFE @EY A€

S

é%@ﬁaiaiwmaﬁra1§ﬁ:wsﬁl.w,

Or / 71%F1 / 9231 / T&1 / ST

er coins, 1:75 cm in diameter and of thickness

any silv :
FRC TR lted to form a cuboid of dimensions

> mm, must be me€
5-5cm % 10 cm X 3-5cm?
.5 . x 10@ R x35& R PR @B G AR 1-75 @ [

szﬁ.ﬁ.mﬁﬁﬁwﬁwﬁ{mwaﬁa?
c5 o i x 106 R x 35 AR W P )t MR ACT: (M (45
175 (1. . I @R 5 fr. f. 5P 1 T FAD TR A TS A ?
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34" The following table shows the ages of the patients admitted 'in a
hospital during a year. Find the mode and mean of the given
data. Compare and Interpret the two measures of central
tendency :

RS CAC e e 0 o " — (MYSdN A | @R
oIS wﬁmwmwwmm%ﬁfemlmm@nmﬂawww
IR I FY -
9T /R 936 BRECTEE ¥ sey QR 71 RAev oIferdr Craar 297 |
% SR CTON OO T R WY @@ AN | G FE Ao we!
T GIR O IR Q]
SEIEEE T ¥ FEEEREE g e SR Seere TeEh
W@ﬂﬁﬁﬁﬂ?mwmﬁﬂaﬁméﬁmm&ﬁﬁwmﬂmﬁgﬁlq
IR A7 e Araiomet sEmeE Y@y -
TF 9N % FA=id uh Rfrearery i ol for T QiR <t IY rraq aiferer ¥
m%%mmnmm%&nﬁﬁﬁﬁmﬁ%wa?ﬁmﬁ@aﬁl Eg
ST % el 9 A e R e 36% et 6 s w5 |

Age (in years) 5-15 | 15-25|25-35 | 35-45 | 45-55 | 55 65

T (IR)

T (ITR)

J4 (FEIE)

13 (31 #) i

Number of patients 6 11 21 23 14 5

CER F337

IR Fe31

A srafomy

It Ft G

* W %
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